20.

SECTION_C — (3 x 10 = 30 marks)
Answer any THREE questions.

Arun Construction Limited has obtained a contract for the

construction of a bridge. The value of a contract is 12 lakhs and

the work commenced on 15t October 2019. The following details
are shown in their books for the year ended 30* September
2020 :

: Rs.
Plant purchased 60,000
Wages paid 3,40,000
Materials issued to site 3,36,000
Site expenses 8,000
General overhead apportioned _ 32,000
Wages accrued as on 30.9.2020 2,800
Materials at site as on 30.9.2020 4,000
. Direct expenses accounted as on 30.9.2020 1,200
Work not yet certified at cost 14,000

Cash received being 80% of work certified Rs. 6,00,000. Life of

plant purchased is 5 years and scrap vehicle is nil. Prepare

contract account.

Simenr s (worar Hlpeuanorerg LT S(Heughamer &L_(hLomenr

@liLbssms OQuppgy. ureb &sLEOD @UUESESE  wLILY

g. 12 s whpb &CLrur 1, 2019 & Ceume geubisLiLILL g
arend euiisdr Sbilneuamsden Lsssssla <G Gl

Qe 30, 2020 &@ sramdssILILL g :

.
Qum Qarearpged 60,000
Fa.60l QUIPRISLILILL g 3,40,000
sL.(Bwrar @L55HeE euphisluL L @muQurr@.dT 3,36,000
sL@wrer QL sShsTer Cewae ser 8,000
udirey Qewii L Qurg Guoplsaayser 32,000
30.9.2020 & Hyairg hHs sned 2,800
30.9.2020 & 51 @uner GLEHD odrer gpar@uagar 4,000
30.9.2020 & sawad L Cprlg QFweysar 1,200
S saamauid srarflésiuLng uaflulien wdly 14,000

Qprésd QupULLLE . 6,00,000 @& srerlEsiucL Ll
80% Ww. Gsmasd Qi Qurdluiear oLl sTen
5 aumLd whpmb sfile] wHuLy geldme UGS SaTEmS
SWMM&sa]|ib.
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‘A’ product passes through three distinct process to compeletion.
During March, 500 units were produced. From the following
information process ‘accounts showing the total cost as well as
cost per unit.

Process I Process II = Process III

Rs. Rs. Rs.
Materials 10,000 7,000 3,000
Labour 2,500 2,000 2,500
Direct expenses :
Fuel 500 1000 500
Carriage 1500 500 1000
Works overheads 2000 2500 2000

Indirect expenses Rs. 14,000 should be apportioned on the
basis of wages. Prepare-Process accounts.
‘A sumfitiy epeipy  geflisgieunnar  Qruensssdlar  aped
PepeueoL fpg. wmiE  wrgsdd 500 B@Essr e pusd
Qe Ler.  Qeteumd  ssudsalld@mhg Cwrss L&sD
DO R AVGSGSTaT GFwamel STLHD Cswudmp SHaTéEms
swi&sa|i.

Qeweweap I Qeudwep II QAswodwenp 111

em. ¢m. €.
CQurparsar 10,000 7,000 3,000
el 2,500 2,000 2,500
Crirg. Geawaeyser :
arfC@ueT 500 ~ 1000 500
QUETIY. QUL aNd 1500 500 1000
wanfl GuopGleawa,ser 2000 2500 2000

22.

23.

weopws Qsweyser . 14,000 smallulen SigrienL uded GRssLLIL
GeuamBib. Ligpenp samsdlLene swm Cews.

What are the procedure for preparation of operating cost sheet.
Qewdum () Qeweysgsraer swTAlLEHETET B (PHDSET WITEHG ?
The records of a company show the following :
Period Sales  Profit
(Rs.) (Rs.)
I 1,20,000 9,000
II 1,40,000 13,000
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24.

Find out :

(a) P/V ratio

(b) Break even point. .

(c) Profit when sales are Rs. 1,00,000

(d) Sales required to earn a profit of Rs. 20,000
(¢) Margin or safety in II period. \

@ Dpeuarsder ghsd Waramauaraupap s Hiflaper.
s  clpuamaisdr @emub

- -
I 1,20,000 9,000 -

I - 140,000 13,000
ST 191, : '
(@) Geomu/siara) cldsid
(<) &flawrierefl:
(@) efpuerar . 1,00,000 25 @@msEn Curg @erub
(FF)  em. 20,000 @orugdpsmer efiHLienem
(2)) umgysmiy LG smeowd IT 5.
Calculate the labour variance :
Standard Actual
Houns Rate (Rs.) Houns Rate (Rs.)
X 10,000 3.00 9,000 4.00
Y 8,000 1.560 - 8,400 1.50
Z 16,000 1.00 20,000 0.90
Qsmiarerisaien Caupur@aamer saréd (s,
(M) 2 @EnLD
werflger sl (65.) wanfladar el (em.)
X 10,000 3.00 9,000 ' 4.00
Y 8,000 1.50 - 8,400 1.50
Z 16,000 1.00 20,000 0.90
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Gereumd ssaudsallaBhg Qwrss HComSLL fser wHHID Qu‘)rrg;e_r,
Lwenflser HCar BLLismar samsslHs.

Cumppgisaier eramaflsms : 5
Cumpg @@ LTs5HHEG QuEsSLLBID BT ST 30
aQaurm GuampHen LD - 4
LImeng Sy : : © o 20 AGem B

Cuppdar (@ Lssh) Lwealsaier Bam. Csmerarey 50
grgmyenrons Lwiais@h Uwafseafler Sper 75%

Calculate break even point, from the following details :

Rs.
Fixed expenses - 1,50,000
Variable cos;t per unit 10
Selling price per unit 15

" Qareumd efleugrisated(pba Erflla-w Leraflepw el ab.

: -
Benowrer Qseeser 1,50,000
@ vfpsrar UL L &s5d50a0, 10
8@ S dpsren cipiiman dlae 15

Product ‘X’ requires 40 kgs of material of Rs. 8 per kg.

" The actual consumption of material for the manufacturing of

Product ‘X’ came to 48 kgs of materials at Rs. 9 per kg. Calculate
material cost variance and material price variance.

40 ACeordlgmb epari@unger, @k HCordgmd . 8 aign ummer
X&g CsomeuBépg. o amamowirar 2 LCWITSLD, Gurr@d‘r X
o pusH Qelasghe 48 &HCamdgrd wpeouCuT®mT, @®
ACor Aymbd ;. 9.00 &Szd Qe il gl epeolGUmEHET
SLsselene wrmur® wHpb epet@urmdr eflewe wIRLITEH
fwapan samsslHs.

How profit on incomplete contracts are calculated?

®ya QUPTS @UILIESSS6 @@muib cramand sarsd UGS g
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14.

15.

SECTION B — (5 X 5 = 25 marks)
Answer any FIVE questions,

What are the difference between contract costing and job
costing?

uenll SLsslugs@d LHND RUILGBS DILSSNUQIGEGD 2 6Ter
Ceupiurhser wremeu? : ’ .

What are the featﬁr,es of process costing?

U pap 3iLssellaaulluieder geﬁTmLoasd.T gurrméu?

From the following information, prepare Process II account :
Transfer from Process I 1000 units at Rs. 4 p.u.
Labour cost Rs. 1,000
Materials + Rs. 3,500
Production overheads . Rs. 700

Normal loss has been estimated at 10% of the input which can
be sold for Rs. 2 p.u. Actual production realised was 850 units.

WQemaupid efeugmisefaliphgl, Ligapenp sans@ 1 swrflsseb.

U penp seand@ [ Smbg eubsgs 1000 ADGHET, BDOG GEANSEES, 5. 4

&addl L &S e5. 1,000
epOUALITHLEET ' . 3,500
2 pugs Cuplswaysear ¢p. 700

16.

sngmyenr @i 2 erafiger 10% erar w9 iul Qererg Q& @6
SdHE . 2 erar @ﬂﬁ)agu@eﬁ]mg}.‘ ‘o amenwowimen - 2 Hrigs 850
SIVGHGHET GTETD 2 GTTULILL ).

From the following information, calculate total kms and total
passengers kms.

Number of buses 5

Days operated in a month 30
Trip made by each bus 4
Distance of route 20 kms

Long (one way) capacity of the bus 50 passengers

Normal passengers travelling 75% of capacity.
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10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

What is work uncertified?

 ananpeflssiiuLng Geuamer erepmed erebre ?

What is notional profit?

Yool @erLiLb eTempiTed eTesre 2

What is meant by scrap?

&0l6| eTETDTE) GTevmen ?

What is Abnormal loss?

SFTSIIT BLL LD GreiTDTed GTesEu ?

What do you understand by joint product?

sl () Qumer uHD Bedir iflous) wirg ?

List out the types of industrial in operating costing.’
Puss Lssalmaiiuddar Asmiherame amasmer UL GHS.
State the meaning of standing changes.
Blenewrium (G s Lewiisafler Qurmener samis.:

Define marginal costing.

aumrhaa S ss allmaidud auampum.

Give any two examples for variable cost.

LrUELL oL&s QeoeaihE gCsaib Gran( 2 sTIaTRSMET S([Hs.

What is margin of safety?

LUNEISTIL] LGS eremmmed erebren ?

Define standard costing.

ST L &5 efleauded euamquig.

Define overheads.

CupEagFae s cuamum).

Maximum : 75 marks
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